BRISTOL BROADCASTING COMPANY INC PO BOX 2397

PADUCAH, KY 42002-2397 270-554-8255

Client:

PEOPLE WHO PLAY BY THE RULES

Order #:

5708-00008 PAC52322

Description: Date Entered:

5/23/2022

P.O.#:

Salesperson:

., Political

Invoice Frequency: Billed at end of Media Month, Sorted by Date

Phone/Fax:

202-965-5060

KATZ RADIO GROUP NETWORK 125 WEST 55TH STREET 3RD FLOOR NEW YORK, NY 10019

On-Air Schedule

	Start Date	End Date	Station	Scheduled'	Γime/Event	Repeated	Length	Qty	Rate	Total	M	Tu	$\underline{\mathbf{W}}$	Th	$\underline{\mathbf{F}}$	Sa	Su
1	5/25/2022	5/27/2022	WDDJ-FM	06:00:00a	to 10:00:	00a Weekly	1:00	4	85.00	340.00	0	0	2	1	1	0	0
2	5/25/2022	5/27/2022	WDDJ-FM	10:00:00a	to 03:00:	00p Weekly	1:00	4	85.00	340.00	0	0	1	2	1	0	0
3	5/25/2022	5/27/2022	WDDJ-FM	03:00:00p	to 07:00	00p Weekly	1:00	4	85.00	340.00	0	0	1	1	2	0	0
4	5/25/2022	5/27/2022	WDDJ-FM	07:00:00p	to 12:00	00a Weekly	1:00	2	45.00	90.00	0	0	0	1	1	0	0
5	5/28/2022	5/28/2022	WDDJ-FM	06:00:00a	to 07:00	00p Weekly	1:00	2	85.00	170.00	0	0	0	0	0	2	0
6	5/29/2022	5/29/2022	WDDJ-FM	06:00:00a	to 07:00	Op Weekly	1:00	2	85.00	170.00	0	0	0	0	0	0	2

Order Start Date: 5/25/2022

Order End Date: 5/29/2022

Spots: 18

Total Charges:

\$1,450.00

Combined Discounts:

\$217.50

Total Net:

\$1,232.50

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

	Projected Media Month F	Billing Totals for PEOPLE WHO I	PI AV RV THE RIII F	S / 5708-00008 ·	
May	2022	Spot Count 18	Gross Billing \$1,450.00	Combined Disc. \$217.50	<u>Net Billing</u> \$1,232.50

Confirmed &	Accented for	or BRISTOI	BROADCASTING	COMPANY	INC By
Committee &	Accepted in	DICIDILE	DINUMBURS	COMITAIN	III Dy.

Accepted for KATZ RADIO GROUP NETWORK By:

Please Sign and Return One Copy

Page 1 of 1

BRISTOL BROADCASTING COMPANY INC PO BOX 2397

PADUCAH, KY 42002-2397

270-554-8255

Client:

PEOPLE WHO PLAY BY THE RULES

Order #: Description: **5708-00009** PAC52322

Date Entered:

5/23/2022

P.O.#:

Salesperson:

., Political

Invoice Frequency: Billed at end of Media Month, Sorted by Date

Phone/Fax:

202-965-5060

KATZ RADIO GROUP NETWORK 125 WEST 55TH STREET 3RD FLOOR NEW YORK, NY 10019

On-Air Schedule

	Start Date	End Date	Station	Scheduled '	Time	/Event	Repeated	Length	Qty	Rate	<u>Total</u>	M	Tu	$\underline{\mathbf{W}}$	Th	F	Sa	Su
1	5/25/2022	5/27/2022	WKYX-FM	06:00:00a	to	10:00:00a	Weekly	1:00	4	25.00	100.00	0	0	2	1	1	0	0
2	5/25/2022	5/27/2022	WKYX-FM	10:00:00a	to	03:00:00p	Weekly	1:00	4	25.00	100.00	0	0	1	2	1	0	0
3	3 5/25/2022	5/27/2022	WKYX-FM	03:00:00p	to	07:00:00p	Weekly	1:00	4	25.00	100.00	0	0	1	1	2	0	0
4	5/28/2022	5/28/2022	WKYX-FM	06:00:00a	to	07:00:00p	Weekly	1:00	2	25.00	50.00	0	0	0	0	0	2	0
	5 5/29/2022	5/29/2022	WKYX-FM	06:00:00a	to	07:00:00p	Weekly	1:00	2	25.00	50.00	0	0	0	0	0	0	2

Order Start Date: 5/25/2022

Order End Date: 5/29/2022

Spots: 16

Total Charges:

\$400.00

Combined Discounts:

\$60.00

Total Net:

\$340.00

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

V.D.					
Spot Count Gross Billing Combined Disc. Net Bi		Spot Count	Gross Billing	Combined Disc.	Net Billing

Confirmed & Accente	d for BRISTO	BROADCASTING	COMPANY INC By:
Comminde & Accepte	IO LOUDING TOT DE	PROMPCASTINO	COMITAIN I INC DY.

Accepted for KATZ RADIO GROUP NETWORK By:

BRISTOL BROADCASTING COMPANY INC PO BOX 2397

PADUCAH, KY 42002-2397

270-554-8255

Client:

PEOPLE WHO PLAY BY THE RULES

Order #: Description: 5708-00010 PAC53022

Date Entered:

5/26/2022

P.O.#:

., Political Salesperson:

Invoice Frequency: Billed at end of Media Month, Sorted by Date

Phone/Fax:

202-965-5060

KATZ RADIO GROUP NETWORK 125 WEST 55TH STREET 3RD FLOOR NEW YORK, NY 10019

On-Air Schedule

	Start Date	End Date	Station	Scheduled 7	Time/Event	Repeated	Length	Qty	Rate	<u>Total</u>	$\underline{\mathbf{M}}$	Tu	$\underline{\mathbf{W}}$	Th	$\underline{\mathbf{F}}$	Sa	Su
1	5/30/2022	6/3/2022	WKYX-FM	06:00:00a	to 10:00:00a	Weekly	1:00	4	25.00	100.00	0	1	1	1	1	0	0
2	5/30/2022	6/3/2022	WKYX-FM	10:00:00a	to 03:00:00p	Weekly	1:00	4	25.00	100.00	0	1	1	1	1	0	0
3	5/30/2022	6/3/2022	WKYX-FM	03:00:00p	to 07:00:00p	Weekly	1:00	4	25.00	100.00	0	1	1	1	1	0	0

Order Start Date: 5/30/2022

Order End Date: 6/3/2022

Spots: 12

Total Charges:

\$300.00

Combined Discounts:

\$45.00

Total Net:

\$255.00

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

	Spot Count	Gross Billing	Combined Disc.	Net Billin
June 2022	12	\$300.00	\$45.00	\$255.00
June 2022 Total:	12 12	\$300.00 \$300.00	\$45.00 \$45.00	9

Confirmed & Accepted for BRISTOL BROADCASTING COMPANY INC By:

Accepted for KATZ RADIO GROUP NETWORK By:

BRISTOL BROADCASTING COMPANY INC PO BOX 2397

PADUCAH, KY 42002-2397

270-554-8255

Client:

PEOPLE WHO PLAY BY THE RULES

Order #: Description:

Phone/Fax:

5708-00011 PAC53022

Date Entered:

5/26/2022

P.O.#:

Salesperson:

., Political

Invoice Frequency: Billed at end of Media Month, Sorted by Date

202-965-5060

KATZ RADIO GROUP NETWORK 125 WEST 55TH STREET 3RD FLOOR NEW YORK, NY 10019

On-Air Schedule

	Start Date	End Date	Station	Scheduled T	ime/Event	Repeated	Length	Qty	Rate	Total	$\underline{\mathbf{M}}$	Tu	$\underline{\mathbf{W}}$	Th	$\underline{\mathbf{F}}$	Sa	\underline{Su}
1	5/30/2022	6/3/2022	WDDJ-FM	06:00:00a	to 10:00:00a	Weekly	1:00	4	85.00	340.00	0	1	1	1	1	0	0
2	5/30/2022	6/3/2022	WDDJ-FM	10:00:00a	to 03:00:00p	Weekly	1:00	4	85.00	340.00	0	1	1	1	1	0	0
3	5/30/2022	6/3/2022	WDDJ-FM	03:00:00p	to 07:00:00p	Weekly	1:00	4	85.00	340.00	0	1	1	1	1	0	0

Order Start Date: 5/30/2022

Order End Date: 6/3/2022

Spots: 12

Total Charges:

\$1,020.00

Combined Discounts:

\$153.00

Total Net:

\$867.00

The Stations of Bristol Broadcasting Company, Inc., do not and shall not discriminate in any way on the basis of race or gender with respect to their advertising practices.

	Projected Media Month	Billing Totals for PEOPLE WHO	PLAY BY THE RULE	ES / 5708-00011 :	
		Spot Count	Gross Billing	Combined Disc.	Net Billing
June	2022	12	\$1,020.00	\$153.00	\$867.00

Confirmed & Accepted for BRISTOL BROADCASTING COMPANY INC By:

Accepted for KATZ RADIO GROUP NETWORK By:

Please Sign and Return One Copy